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(a) (@ —1)*+(y—2)*=18 (b) <x—§> +(y_1)2zg

(a) center = (—3,2), radius = v/10  (b) z + 3y = 13.
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(a) 9 (b) (x=5)*+(y—3)*=25
(a) 82% — 38z + 8y? = 20y + 43 =0 (a circle).
(a) x <=2 or x>1 (b)i Domain: all numbers, Range: {7};
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ii. Domain: all numbers except —3 Range: all numbers except 5

Domain: all numbers except 0; Range: {1,—1}
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30. (a)y=—-a2*+22+3 (b)
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35. (a) 1 —% (b) 4r +7r  (c) %TW (d) 100v/5 km  (e) % or 30°

36. (a) Use B,y =2, A and cos0 =1
(b) Use D

(c) Use C

(d) Use (c) then (a)

(e) Use (d) then (a)

(f) Replace z by 7/2 in (d)

(g) Replace x by 7/2 in (e)



